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L X2 —24x + .. is a perfect square, then the value of ....

‘Determ

Quarterly Examination - 2023
3.00 Hrs MATHEMATICS Marks : 100

Answer all of the following questions. 14x1=14
if there are 1024 relatiions from a set A= {1, 2, 3, 4, 5} to a set B, then the number of elements in B is

a)3 M2 c)4 d)8 :

if { (a. 8), (6, b) Jrepresents an identity function, then the value of a and b respectively

ar(8,6) b)(8,8) c)(6,8) d){8 6)

The sum of the exponents of the prime factors in the prime factorization of 1728 is

a)1 b)2 cy3 d)4

In anA.P,, the first term is 1 and the common difference is 4. How many terms of the A.P must be taken for their sum 1o
be equal to 1207

a)6 b)7 B8 d)9

If (x - 6) is the HCF of x* - 2x — 24 and * — kx — 6 then the value of k is

a)3 b5 c)6 d)8 s

256x8y*z1® 16

16
The square root of W isequalto a) 5

g

x*z?
2
y

16| y
c)g‘“

p) 16 "

4

)(22
Afunction f: R — R define by f(x) =C, v x € Rcalled a...........
a) The identity function b) Quadratic function €] Constant function d) Reciprocal function
it AE BC
If in triangles ABC and EDF, DE = =) then they will be similar, when
a) ZB=,E b)ZA= 4D ey ZB=.,/D d) ZA=/E
Aman walks near a wall, such that the distance between him and the wall is 10 units. Consider the wall to be the y axis.
The path travelled by the man is ;
ajx=10 b)y=10 ¢)x=0 d)y=0

1 ;
If slope of the line PQ is J_E- then slope of the perpendikcular bisector of PQ is

d) 43 bi-3 c)% d)0

. The point of intersection of 3x—y=4andx +y=8is

a)(5,.3) b)(2,4) 13,5 d)4.4)

. tan® cosec20 —tan@ is equal to

a) sec@ b) cot?® c)sind .dcotd

. acotd + bcosecd = p and beot + acosect = g then p? - g*is equal to

a)@i—b? bybi—at c)ai+bi d)b-a ‘
A4S

a)64 b)16 cy144 d)81

Answer any 10 questions. 28th question is a compulsory one. 10x2 =20
1FB xA=-{ (-2, 3), (-2, 4), (0, 3), (0, 4). (3.3). 3. 4) }find Aand B. . .

Let X ={1,2 3. 4yand Y ={2, 4,6, 8,10} and R={(1,2), (2, 4), (3, 6), (4, 8) ). Show that R is a function and find its
domain, co-domain and range? . ‘ :

ine whether the graph given belkow functions. Given reason for your answers concerning each graph.

i) i} y
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ool = 0 3 then find @ and b
S4Bk B+ 1areinAP thenfind K.
LTM of the following : 8x* y*, 48x°y*

d the

21. Reduce th

9x? +81x
e following rational expression to its lowerst form B
22. Determine the quadratic equations, whose sum and product of roots are —¢ 20
23 In AABC, D and E are points on the sides AB and AC respectively such thasut || BC ; IfAD = 8x -7, DB = 5x -3,
AE = 4x - 3 and EC = 3x - 1, find the value of x.
24, Prove that (cosect - sin) (sech — cos0 ) (tan@ + cotf) = 1
25. Find the equation of a line whose inclination is 30° and making an intercept —3 on the y axis.
28. Find the area of the triangle formed by the points (i) (1,-1), (-4, 6) and (=3, -5)

27. The line r passes through the points (-2, 2) and {5, 8) and the lines s passes through the points (-8, 7) and (-2, 0).
\s the line r perpendicular to s.

28 Find k if fof (K) = 5 where f(K) = 2K~1
1. Answer any 10 questions. 42" question is the compulsory one.
20 IfA={5.6},B=(4,56},C={56, 7} showthatAxA=(BxB) n(CxC)

30 LetA={1,2,3,4)and B={2 5,8, 11, 14} be two sets. Let f: A — B be a function given by f(x) = 3x - 1.
Represent this function

10x5=50

i) by arrow diagram i} in a table form iii) as a set of ordered pairs iv) in a graphical form

3L. Consider the functions f(x), g(x), h(x) as given below, show that (fog) oh = fo(goh) -
f(x)=x-1,g(x)=3x + 1, h{x) = x*

32 Find the HCF of 396, 504, 636

337 Find the sum of all natural numbers between 602 and 902 which are not divisible by 4.

34 Rekha has 15 square colour papers of size 10cm, 11cm, 12cm......, 24 cm. How much area can be decorated with these
colour papers. '

35. Find the square root of tha following polynomial by division method x* - 12x* + 42x? — 36x + 9.
16x" -2x-3 Bx%+11x+3
. Find -
%8 AN 7 21 TmE x4

37. Abus covers a distance of 90 km at a uniform speed. Had the speed been 15 km/hour more it would have taken 30
minutes less for the journey. Find the original speed of the bus.

38. State and prove Thales theorem.

39<7Find the area of the quadrilateral whose vertices are at (-9, 0), (-8, 6), (-1, —-2), (=6, -3)

40. Find the equation of the perpendicular bisector of the line joining the points A(—4, 2) and B(6, —4)

sin® A—sin®B

cos® A cos?B

427 Find the sum of n terms of the series 5 + 55+ 555 + ........

IV. Answer all the questions.

41. Prove that tan*A— tan*B =

1x8=8
; ; i 7 I
43, Construct a triangle similar to a given triangle PQR with its sides equal to EOf the corresponding sides of the triangle

2
PQR (scale factor i =1)
(OR)

Construct a APQR which the base PQ =4.5cm, ZR =35° and the median RG from R to PQ is 6cm
44, Draw the graph of xy = 24, x, y > 0. Using the graph find i) x when y =6 ii) ywhen x = 3.
(OR) i .
A bus is travelling at a uniform speed of 50 km/hr. Draw the distance - time graph and hence find
i) the constant of variation
i} how far will it travel in 90 minutes?
iii) the time required to cover a distance of 300 km from the graph.
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